log (*) LABJINDuO-Normhelligkeit I*

* Yoc=Yw  nc=100,

I* L ABINDUO=IN(A 10+ A2nY)/(A2nAon)  (Ynd/100<Y<=Y,o)
* L ABINDUO=IN(A 17+ A2)/(A2yAon) - (X=YTYy)
I* (3,6)=320] ,(18)=748 [* ,y(90)=1164

logli* /1* jJ=0, m,=

4
I* o=1163,74, A=/ K666, &U=d,1044 1,00
*1g=747,51, A =C 07, A,=0
I3 F326.7617,=7 W51 18 :
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bereich

LABJINDuO
Normfarbwertdifferenz
Yoc=Yw nc=100,
I* LABINDUO=IN(A 17+ A2nY)/(A2nAon)  (Yd/100<Y<=Y,o)
I* LABINDUO=IN(A 17+ A2X)/(A2yAon) - (X=YTYy)
dY=Agy(A1+AsnY)=Agn(A1r+AzX), siehe CIE 230:2019
dYoq=0,35, Ay=0,6666, A,=0,1044, ¢=1,00
dY;=0,08, A, =0,017, A=0,0058
dY3¢=0,02 Y,=18, dY=0,08 o

I* ;=748 dY,=0,08 dY,/Y,=0, 0044

Anwendungs-
bereich

log (AY/Y) LABJINDUO
. Normfarbwertemfindlichkeit
SHEYY Yoc=Yw - nc=100,

1%L ABaNDUO=IN(A 17t A2Y)/(A2nAon)  (Yn/100<Y<=Y,o)

¥ ABINDUO=IN(A 1A X) (A2 Aon)  (X=Y1Yy)

AY/Y=Agn(A1r+AgnY)Y=Aon(Arr+AgX)Y
(dY/Y:=0,0039, A=0,6666, A,~0,1044, ¢=1,00

(dY/Y)g=0 0044, A,=0,017, A,=0,0058
(dY/Y) 20,0970 Y,=18, dY=0,08

Anwendungs-
bereich

log(dY/Y)E—2,34 m=-0,1.5 ~ _
¢ =748 dY,=0,08 dY,/¥,=0,00441

|>QJ’:l
Xw=5

XxN=0,2

log (Y/AY)
C,=(Y/AY)

LABJINDuO
Normfarbwertkontrast
Yoc=Yw =

=100,

1%L ABINDUO=IN(A 107t A2Y)/(A2nAon)  (Yn/100<Y<=Y,o)
1* L ABINDUO=IN(A 10t A2X) (A2 Aon)  (X=Y1Yy)
YIAY=Y/[A (A 1ntA2n V)X Y/ [Aon(A1n+AuX)]

Iog(Y/dY):Z 34 m=0, 13 - ==
(Y/dY}o=250,4F, Ay 20,6666, %—o 1044,6=1 85
(Y/dY)§=222 40, A,=0,017, A4£0,00 g;glecndung&
(VIdY), 42,56 Y18 0008, _

Jw=5

xN=0,2

Anwendungs-]

log (*/* ) LA?JNDUO re_lative Normhelligkeit I*/I*,

1%/1% u Yoc=Yw nc=100,

1* L ABINDUO=IN(A 1n+A2RY)/(AnAon)  (Ynd/100<Y<=Y,o)
I* 1 ABINDUO=IN(A 10tA2) (A2 Aon)  (X=YTYY)
I y(3,6)=329* ,(18)=748 [* ,y(90)=1164

I* ggfl* =1,55, Ay=0,6666, A,=0,1044, ¢=1,00
I*1g/1* =1,00, A =0,017, A,=0,0058
I* 3 I =0,43,¥,=747,51 Y=18

log[i* /I* ]=0, m,=0,33
L* =49, I* =748

log(A Y/AY i)
AYIAY,

LABJNDUO relative
Normfarbwertdifferenz
Yne=Yw nc=100,
1* L ABINDUO=IN(A 10 +A2RY)/(AnAon)  (Ynd/100<Y<=Y,o)
I* L ABINDUO=IN(A 10+ A2X)/(A2uPon) - (X=YTYY)
dY/dY =(A1tAX)/(A1+AY)
dYoy/dY,=4,43, Ay=0,6666, ,=0,1044, ¢=1,00
dY;g/dY,=1,00, A=0,017, A,=0,0058 5
dY; ¢dY,=0,31 Y, =18, dY=0,08 -
/
I*,=748 dY,=0,08 dY,/Y,=0, 0044

Anwendungs-
bereich

log [(AY/Y) I (AYIY)] LABJINDUO relative
Normfarbwertempfindlichkeit

SSu=OYMIBYN)y . =y, - =100,

1%L ABINDUO=IN(A 10 +A2RY)/(AnAon)  (Ynd/100<Y<=Y,o)
%L ABINDUO=IN(A 10+ A2 (A2 Pon)  (X=YTYY)
(@Y/YY(AYIV)=Z[(A 1+ A X)X (A 17 +A)
(dY/Ybg/(dY1.N=0,88, Ay=0,6666, A,=0,1044, ¢=1,00
(dY/Y)g/(dY/Y)=1.00, A,1=0,017, Ar=0,0058
(@Y JEYIYI=L S =18 0Y=0.08

log[(dY/Y)(dY/Y),]=0, m,=-0,13 o

= 1 Anwendungs-|
I* =748 dY,=0,08 dY,/Y,=0,0044 boramung

=1
Xw=5

XN=0,2
log [(Y/AY) I (YIAY),] LABJINDUO relativer
Normfarbwertkontrast
CrlCry=(YIAV)(YIAY)y vty ™ 2300,

I* L ABINDUO=IN(A 10+ A2RY)/(A2nAon)  (Ynd/100<Y<=Y,o)
1%L ABINDUO=IN(A 10 A2X)/(A2uAon) - (X=YTYY)
(YAYY(Y/IAY)=[XI(A A )(A 10+ A L)
(YIdY)g/(Y/dY)=1,12, Ay=0,6666, A,=0,1044, ¢=1,00
(Y/dY)g/(Y/dY)=1,00, A,=0,017, A-=0,0058
(Y/dYY g(Y/dY)=0,64 Y, =18, dY=0,08

log[(Y/dY)(Y/dY),]=0, m=0,13




